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v(t) = 4v2sin(t — 30°) + 2v/2sin(2t 4+ 30°) 4+ 2v/2sin(3t — 30°) + V2 sin(4t — 60°)
i(t) = 5v2sin(t — 30°) + 3v/2sin(2t + 30°) + V2sin(3t + 30°) + v/2sin(4t + 30°)
BHES
P =4 x5cos(—30° — (—30°)) + 2 x 3cos(30° — (30%))
+2 X 1cos(—30° — (30%)) + 1 x 1cos(—60° — (30°))
=4 x 5c0s(0°) +2 x 3cos(0°) +2 x 1 cos(—60°) + 1 x 1cos(—90°)
(

=4 x 5c0s(0°) +2 x 3cos(0°) + 2 x 1cos(60°) + 1 x 1cos(90°)

1
:4><5+2><3+2><1><§+1><1><0
204641 cos(—8) = cos(6)

— 27 [W]

-y
i

p— p— :0‘9
Y =V T 5x6



F—J—K: U9 HBEIMEN

FEBR

ENTERODHBIENTED,

U\'a'?%/&" i HIL 'E

10



